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GCD(X,y):

T2 L ERE &

EE 7%

a: x=yDEEGCD =x;
b: x>ydDEEcall GCD(y, x);

C: y<yDEE
r.=y(mod Xx);

r=00D&EGCD = x;

r =00 &=call

GCD(r, x)
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Z 15 python
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#!/usr/bin/env python
### usage: gcd.py 12 18

iImport sys

E(BRRANBDTATSLEERE K

jl:l)jjj-\nnn python
OS54 :gedpy 12 18
H 77 :gcd(12,18)=6

def ged(x,y):
if x==vy:
return x
elif x>v:
return ged(y,x) B
else:
r=y % x
if r==0:
return x
else:

B #gcd

return ged(r,x) B 22 &

x=int(sys.argv[1]) 15|15
y=int(sys.argv[2]) Z525|%K
print “gcd(%d,%d)=%d” % (x,y,gcd(x,y))
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RIElDERE S ruby
n 5IRE2.26(D#E é%%"l:lfc, aA—5)yrDERK

E(BRRANBDTATSLEERE K

#!1/usr/bin/ruby JOTS5LSEE ruby

##+# usage: gcd.rb 12 18 A< RSAY gedrb 12 18

def gcd(x,y) — . °
if X==y then II:EI jj .ng(1 2,1 8) 6

return X
end
if x>y then
return ged(y,x) EBECSZHE
end
if x<y then AJUK ged
r=y % x
if r==0 then
return X
else
return gcd(r,x) B2 SHE
end
end
end —

x=ARGV[0].to_i F—5
y=ARGV[1].to_i EEIH
printf "gcd(%d,%d)=%d\n", x,y,gcd(x,y)
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n fiZ
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o f7
s <HEA>=<BH>|<HIA>+<HA>
|<#rz> x <$=>|(<BH>)
<EH>:=y
B (y+y) Xy, (y X (y+Yy))



EX XA RITEBN(F)FRIR
i (p.46)

*ﬁi.ﬁ ) BNF

S| —>®—> <A>::=q

)53 é} Q:O> é:) é} C%) <A>::=a|b|c....|y|z

#H —Ca >—| B (g >~y >— <A>u=a<B>py
B , <A>::=<B>|<B><A> : BNF
<A>::=<B>{<B>} : #L53RBNF

<A>::=g|<B><A> : BNF
B | <A>::={<B>} . H.5RBNF

4T3 | : <A>::=¢g|a : BNF
_'® <A>::=[d] HL5RBNF
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